
 

 

 

 

 

 

 

 

 

 

Vowel æ: g   ( m  ) 

A vertical stroke is attached to the right side of the character, no matter if a consonant or ligatur.  

                    ` + g = a   (1  gæ ) 

Normaly this vertical stroke should have the same vertical height of the basis character. But that’s not the fact. There 

exist always little differences in heigts especially with consonant clusters. 

Important are the number of the thin endstrokes of the characters attaching the vowel æ. 

Some of the basis characters have one endstroke,  `   0  0  0  0  0  0  ð  0 0 0   0  0  0  0        
                                          ð        0       À         P           Ð         `       P        Ð      à        °       

 

0        À        0      P       ° 

                                          a   ga gha  tsa dzha tha da na  pa pha ba ma  ra wa ða 
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and change with attached vowel æ to a  a  Ñ A  á Q A ñ 

 

1 ± 1 á Q  A ±  with 

two endstrokes.                    ñ         1          Á          Q          Ñ        a        Q       Ñ        á           ±         1         Á         1        Q        ± 

æ   gæ  ghæ  tsæ dzhæ  thæ dæ næ  pæ  phæ  bæ mæ  ræ  wæ  ðæ 

          Variations in the design of vowel æ:  0  to 1    or  ð   to   ñ      (æ  g =  h  ) 

                        0               1                       

 

`                  a 

                                        dha    dhæ     dhla    dhlæ 
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Some basis characters have two endstrokes  0  0   0  0  0  0 0  0 00 0 

                                                                                                                            ð         @        Ð         `       0       P       0      °     °     à       @ 

                                                          kha  óa ôha  òa  ta bha ya la  âa  sa ha 

           and change to   A   A ñ  a  1 1  Q  Ñ A  a  ±   with three endstrokes, 

ñ            A       Ñ           a          1        Q          1         ±          ±        á         A 

                                                     khæ   óæ  ôhæ  òæ  tæ  bhæ  yæ   læ  âæ  sæ  hæ 
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or three endstrokes 0     and change to  Á  with four endstrokes  (variation = Q ) 

                @                                                             A                                                                                                      A 

                kâa                kâæ                             kâæ 

or basis characters without endstroke  0   0 0  change to a Á  Q  with one endstroke          

                                                                                  `       À       `                                a      Á            a        

                                                                                 èa    ôa ïa            èæ  ôæ  ïæ 
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For basis characters 0  0  0  and 0    the vertical stroke æ is attached in a half reduced size. 
                 `         

 

0         P                    @ 

                                                         ka  dza  óha    kâa 

     With æ:      Á  a   Q        Q 

                                     a         

 

1         Q                  A 

                                                         kæ  dzæ  óhæ   kâæ 
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The basis character 0  change often to `  attached with vowel æ  to w    instead of  1 . 
                 @                                                    @                                                                                  A                                                A 

                                                         tsha             tsha                       tshæ            tshæ 

A very rare graph of basis consonant 

 0 with vowel æ Á is V    and cluster @  with vowel æ instead of A   =   F 

   

 

`                                           a                 a                                               °                                                                           ±                    ±  

   ka             kæ    kæ             thva                     thvæ    thvæ 
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